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| & el 9w @ fog “ i

) & '1 2'
MODEL PRACTICE SET - 17 9. Complex number 1_(:_:')2 & modulus BFTT—
A. T @1 ®) 2 © 3 (@) 3
800 = sinx - cosx % Y T (range) 71 B 7 10 uﬁfﬁ[l 2} B= {3 5} FaT A+ B = :;] M x=
: ' _4
(@) [ /2, ‘/_] (b) [-2, 2] (c) [0, 2] (d) [g} ﬁ] >
2.  lim 0B (x -~ 2) ? | b (@) 1 (b) -1 () O (d) 6
Cxeg X-3 7 ';-'u.mﬁgm%gmazmﬁm%w% Rraa oW Bg (1, 2),(47)'1.5
3 i l-secx ﬂ @ @ e . (a) (4, 2) (b)..(2, 4) (c) (4,1) (d) 379 § o T
g 2 =7 b 12, ave Yand lx b my +n = 0 W px + qy + r = 0 AR THEH W o & A—
(a) 1 (b) 1 © -1 @ . (@) Ip—mg=0 () lp+mg=0 (c) Im=pg (d) Im+pg=0
2 5 0 : | | : +
) 2 - 13. um B ot & Fram® (2, 3), 4, 5) T (6, 2) ¥ | 5@ By & &uwe
4 .

: 5 (O o n | |
(a) 5 3®R (b) 4318 (©) 33313 (d) 63F1E
L A4, wRET 752 — 12xy + 52 = 0 Pl st —

4-f x__ _,
l-siny — °

(@) v2+1 (b) 2+/2 Q) -3 d) /3 Ea:ﬁ:mmaﬁaﬁ (b) & T A AN B
5 dx =7 | C qﬁ' .
x° - (d)’{aﬁﬁ@rﬁﬁﬁré’fﬁwi@ﬁaﬁ

15 A P+ P+ dx—Ty + 12 = 0 BRI y-HE T B T ST avs t—
(@) 1 (b) 3 (c) 4 (d) 7

1 —
(a)_ —zglogx+:+c(b) log;igﬂt (c) tan 1-:-H.' (d) & & oF T8
3

—

—_—l = = e e = = —_— g ==

. 16. @R OA=2i-j+k, OB=i -3j -5k @ OC=3i -4 - 4 & CBUF AC
& &/ BT BT E— |

2

2
J BT orderdqT & 7

a | \dx (a) 30° (b) 60° (c) 90° (d) 120°
@ b 2 © 3 @3 17, a% a3 e g -t -7i-Frek(ash)x(a-b)-
7. !Tﬁx-—*ﬂmssﬁll'q:y=asin3ea’r -d—z-g =7 ﬁ (a) —18: +1067+74k (b) 13?—106;:+74;
) © 187 +106] 765 @ 187 -106] -75k

(a) —sec? B (b) ~ tan8-sec 8 (&) sec’6 (d) T ¥ &

e 8 £ 18w =i 807 Rufydl § T e ¥, gaw @iy 90% Refrdt § ww e
10 .

§ | S el o e & aoy 9T geafa OFF & a1 wifkaedar ¥ 7

8. (x-—%) 3 Rrem § wer 9z rm— (@) 70% (b) 80% © 75% () 74%
19. AZTT TF 999 & 53 O @ WA 13 Bzro 39 aed @ &5 €9 & wRwm
(a) -252 (b) 252 (0 & (@) =5 | £%, @ Am Bmmnﬁi‘sﬁs@ﬁa&mﬁmmw%?
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20. 4,7,5,88,8,5,7,9,5,7,9, 10, 8 BT qgH a1 & ?

21.

22.

23.

24,

25,

26.

27.

28.

29

30.

31.

32,

33.

(@) 7 (b) 5 (c) 8

sinl105° + cos1(5° = ?
(@ 3 b) 3 © V2 d) 7=
et AABCH (b + ¢) cosA+ (c +a) cos B + (@ + b) cos C = ?

(a) O (b} 3abe () a+b+c (d) 39 q &E T
1,2,3,4,59 °r & & et gwd s o1 gt &, 9 um & guy
} 3l B gl =g 8 ?

(a) 120 (b) 240
2 3

gofy 1 - E +E-|"i +...00 YT T &1 A% Frafslaa & & fras auaed ?

(d) 10

(c) 720 (d) 625

(a) e (b} ¢ (c) e~ (d) ¢
(x +a) & foea & weg qg FT & 7
( ﬂ) Incn (b) chn yhgDh
(c) >C_, x~~1.gn+! (d) 399 § g T8

B. O™ s
‘sifa &1 gt @r &7
(a) THT T  (b) HEW U () v FEw (d) T ¥ A T8
e’ (Nippon) fgmr areiq my & 7
(a) w9 (b) == (c) dEE™ (d) g
‘@’ (Tass) gqurar oAdT fpg v ar & ?
(a) 9™ (b) =% (c) sTHRET (d) foreq
9q AreTieR Rag’ &9 s wmr & 2
(a) 100fe@=  (b) 109 @l  (c) 109 (d) 10 e
‘ars’ (Tharu) feg T=a &Y q& sHenfy 82
(a) AT (b) BAGTE (c) sauEe | (d) 5w w29
FIEE @t fog amr 93 § gEfa & 2
(a) srErd (b) T (c) qEe (d) arafe
‘Hrd Y STEIA g (CPRI) et frag & 2
(a) Prger  (b) % R (c) ufearer  (d) srgasy
T’ (Grammophone) @1 anfassr e fear ?
(a) W< (b) wIEHA (c) ®Iee (d) Hieed

- 34,
} 35,

36.

37.

39.

40.

41.

42.

45.

47 .

48.

Ayl =Kl M Cisi L9

e tresgge’ (UNQ) & w10t & 99T §89a <& 39 &I & fhadt & 7

{a) 50 (b) 54 (c) 45 (d) 60
Faam # wa ¥ g9 fhas S=a =mrea (High Court) ¥ 7
(a) 28 (b} 21 {c) 18 (d) 26
a3 B o wegafa @ S A g e e

(a) -row gaE @ (b) Sfo TA= 9O

(c) THTHWI (d) et &&=

G @ USG9 503 §/SNE Q9 dIsE &1 39| 1 8 ?

(a) 2:3 (b) 3:2 (c) 4:3 (d) 3:4

‘AAT qEEBRC | (Arjuna Award) fexay far st & ?
(a) Femar s | (b) TRET@ERH (¢) I A & (d) FoEr @
ARA 98 AT Beaw war | St T R 2

(a) S (b) 3 (c) 4 (d) 7
‘SR gad' g e w1 & S an ?
(a) FoIgSET faoott (b) JOREE Rawal
(c) gaR& Rassit (d) 9 F I3 TH
‘Bifga fega srg-eTe ¥ YW ST a1 ? |
(a) sdae= (b) a=7q<a A (o) I« @ (d) i«
oy’ e (Garur Airlines) g 291 &t I1gder 2 7
(a) WHd (b) LTRfIE () U (d) ot
. f&g 291 & ‘s s’ (Hermit Kingdom) 3 &9 § @ S 8 ?
(a) iftan (b) Wrd (c) =R (d) S9H
. q9Y Far . fea fayg o -9 #ie (Lake)® ?
(a) goiRax (b) 93 (c) 53 (d) fefeemrent
Hifeed ¥ FAAH @& w1 6 oo F & &t ?
(a) T&pa (b) TSt (c) wmel (d) @it
. ‘s T (Golden Girl) fgat =T &7
(a) 9o 2o T (b) ey T4 s
(c) fnw 95 (d) dio do Ftfer Ta
Riep<x feraeT farsg ar ?
(@) Haeg  (b) R (c) I (@) HTHRIGH
favg &1 a9 931 wewe (Desert) #9491 8 7
(a) BRI (b) 9R (c) 7= (d) wreEl



A Hdl 9G&

49. ‘gl &t oA’ Y wer AT & ?
(a) Hifow R (b) w&wEAT (SEfET)
(c) it Fdyw a= (d) Hifes wd=g

50. ‘Grgde IH’ (Silent Valley) e Tvm § Reg & ?

(a) & b) afeay () ®RE  (d) NG
| C. e |

51. X-fTof— |
(@) TWT @ AT & gody & (b) TN H ATY A ATY ot &
(c) THTN & AT & &9 AT ¥ Tot & (d) T q B 9

Sz.mﬁsﬁiﬁ%ml-svﬁtlﬂa}ﬁ,a?rﬁf%mmﬁ'ﬁhgrm%,a’r
%3 (TR 6% 79 #rm, ARt 9REl & dear 58 ?

(a) 15V (b) 5V (c) 8V (d) 15V
53. 7% 7ia S [Af¥ea daoe 9 Rgfy #d 82—

(a) st 7fd (b) gl (©) s3def 7y (d) Fo=T @
54. dfeqUy TEZ [(CaNO,)) &—

(a) g (b) UuNE | (¢) SB®

55. 9ot &Y qaE & IR qorw 1 & 99 Ved o 99 wE ¥ TOE AT @1 S5
¥ & et wer e far gut ot i ol &)

(a) Ve (b) 3Ve (c) 6Ve (d) Ve
56. BT TAT N&lH & S AT § H-91 T S@T & ?

(a) ¥t (b) BT (c) & (d) o
57. YU YIRY Ta5X B U e &1 99 &iar 2—

(a) 0 (b) 1

(c) 0Qd 1& &g | (d) % q L. 1
58. (el # & fw®r atn-d=f (Wave Length) wad &m £.2

(a) drer (b) AT (c) 3% (d) &

59.&1%“1;-:: Gfr{lcl-\/lalzﬂblz?:ﬁ;GﬁT;%ﬁirm&?rww
?

(a) 60° (b) 90° (c) 120° (d) 180°
60. Frifsa & warafas gffear 8—

(a) 9 1 Q % T (b) ar it IS

(c) gaaEd TN (d) T8 & = &
61. 4% St F1: I (Charging) & Jmar 2—

(a) = A (b) Fere-dsfray 3o

(c) I oo (d) 39 ¥ #I3 F8
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" 62. W (Wet) T3 W 978 & 18T &1 M0 I 8Ial e—

(a) 10,000 (b) 15,000Q (c) 5,000Q (d) 20,000Q

L 63. AR W =08 a Rreema ©d 7@ & &g w1 o7 Am—

(@) 30° (b) 60° (©) 0° (d) 90°

| 64. fdl yamg wTw (Elastic Medium) § =91 &1 3 €61 §—

@ S () JERe (@) T (d) 5 A B

65. BT o-Fr F 10° e FaT Ry 7 &, S9E St shif—

(a) 3-2x10™ = (b) 3 x 10
(©) 1-6x 1075 (d) 1:6 x 10235®
66. 25W 3T 100W & sva gFratl T A 3 gC # | &1 9= St g1
B ? | |
(a) 100W =1 a3 (b) 25W &1 &5
(¢) ARl avw aur &9 § vy & (d) 3% & = 8
67. Y NE TF & a8 W & | ¥ =R dum &@ | B 7 {Suer dmer erm—
(a) aa (b) T (c) wfr gorf  (d) & 3w
68. 1127 =W FT UF Sfear b e § 30 gam} omar 8, o aRftr 9 & B
g &1 U 3 Bm—
(a) 3 m/s (b) 5 m/s (© Fm/s (A T & B T
69. AT FARGN U (Bulk Modulus of Elasticity) & 8! famr —
(a) ML*T (b) MLT2 (c) MLT-2 (d) 377 & &g TH

C
70. afk C, @d C, f& &t & R0 g afad & & =2 &1 a9 frm—

(4

(a) 19 fes (b) 19 &9

(c) 1& W (d) Tfr fai & fou ga= s &
71. fFr=fofaa & ¥ P wad gidH &t 2ar t—

(a) goT AT IRy (b) S= &+ 9RY

(c) @i fBy=t (d) @fs Byw ok == awfs S
72. T &4 § HgT S A e T & Faewr & A i s -

(@) 3 & T | (b) = & o9 W

(c) T7 I O & 99 W (d) 91599 @ 9 W

73. B a5geN & dra oAyl a9 F R, gk o &g o g @1 ueR v
Rar sme, & 37& 9 I & 417 ET—

(a) 4F (b) 6F (c) 8F (d) F/2
74. B TR BT GHAIG (isotope) T8 & 7
(a) Wifeaw (b) =gfaw (c) gieam (d) Zrzfean



_— - N

75.

g &9 § BrEEme (Photography) o fegsr sy fasar Srar & 7
(a) AgNO, (b} AgBr () AgCl  (d) AgF

D. ENGLISH

Do as directed :

76.
77.
78.
79.
80.

81.

82.
83.

84.

85.

86.

87.
88.

B9,

90.
91.

92.

93.

94.

95.

96.

Who has stolen it ?
I requested the oldman not to speak too loud.
Soni is ........... unlucky girl. (Insert Article)

Rice and curry ....... my favourite dish. (Insert suitable “verb to be’)
She was doing well in dance, but her husband kept her .......

(Change the voice)
(Change the narration)

(Insert preposition)
The meeting ....... before the education minister came.
(Fill tn the blank writh suitable verb form of ‘start’)

Undo (Give past form)
The prices of all the goods have gone up .......... the new government
come in power. (Insert suttable word)

Hardly had he (a) / come out of the car (b) when (¢) / the bomb exploded
{d). / No error (e)

Ajay, Ajit and Bijay are friends but the ..... is more intelligent than
the—......... (Fill in the blank with suitable adjective)

The people (a) / of Mumbai (b) / are busier (c) / than Chenai. (d) /
No error (e)

Fore (Give Superlative form)
Everyone should work for ........ nation.

(Fill in the blank with suitable possessive)
Each of the girls was wearing a red sweater.

(Pick out pronoun andstate its kind)
Widower

His younger sister lives in this girls hostel.
(Rewrite the sentence using possessive)

Neutron (Groe plural form)
Mahatma Gandhi was one of the greatest men in the world.

(Give ferminine word)

(Change into comparative)
The box was so heavy that it could not be lifted.

(Rewrite the sentence using “too’)
Direction : Pick up the correct Synonym for the given word :
General
(a) chief (b) specific (c) head (d) common
Direction : Pick up the correct Antonym for the given word :
Dissent )

(a) consent {b) object (c) quibble (d) decline

Direction {96-100) : Read the following passage very carefully and answer
the guestions given below it :

The first Great Mughal was Babar. After him came Humayun, then Ak-
bar, Jahangir and Shah Jahan. The last of the great Mughals was Aurangzeb.
Shah Jahan had four sons—Dara Shikoh, Shuja, Aurangzeb and Murad. Dara
was the eldest and Shah Jahan wanted him to be the emperor after him. So
he had kept Dara with him, and sent his other sons to look after the other

parts of his Empire.

When Shah Jahan fell seriously ill it was thought that he would die.
At once, the sons who were far away started for the Capital. Each one was
determined to become theemperor—they all knew that they would have to
fight the others. Aurangzeb was very clever. He knew that he alone with
his army would not be able to defeat the others, especially Dara who was
leading Shah Jahan’s armymow. So he joined his brother Murad, who was
a fool and only cared for drinking wine and making merry. He made a pact
with Murad to out Dara. They would divide the Kingdom between them.
Now the combined armies of Murad and Aurangzeb defeated Dara twice,
after which Dara fled. Aurangzeb invited Murad to a great feast to celebrate.
Murad was made to drink so much wine that he lost his senses. Aurangzeb
removed him to prison and later on put him to death. Then he fought Shuja
and defeated him. Shuja fled to the Arkans in Burma, and was never heard
of ‘again. He was probably killed by the wild people who lived there. Dara
was hunted down, after some time he and his son were both beheaded.

Now there were no morerivals, so Aurangzeb declared himselfemperor,
taking the title of Alamgir. But Shah Jahan was in good health by this time.
So Aurangzeb made him a prisoner and kept him in the Agra fort for eight
years until he died.

97. Who were the first and the last Mughal ?
98. Name the six Great Mughals in order and the four sons of Shahjahan.

99. Why did Aurangzeb join Murad ?
100. What reason did Aurangzeb give to Murad for joining him ?

X34 L
A. 1o ,
1. (a) 2. (b) 3. (c) 4. (d) 5. (a)
6. (b) 7. (¢} 8. (d) 9. {a) 10. {(a)
11. (a) 12. (b) 13. (a) 14. (d) 15. (a)
16. (c) 17. (a) 18. (d) 19. () 20. (c)
21. (d) 22. {c) 23. (d) 24. {(c) 25. {b)
B. g s
26. (b) 27. (a) 28. (b} 29. (a) 30. ()
31. {b) 32. (a) 33. (b) 34. (a) 35. {b)
36. (a) 37. (b) 38. (d) 39. (a) 40. (b)
41. (¢} 42. (b) 43. (a) 44. (d) 45. (a)
46. (a) 47. {c) 48. (a) 49. (b) 50. (a)
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C. = ~
51. (a) 52. (d) 53. (a) 54. (a) 55. (a)
56. (b) 57. (b) 58. (d) 59. (b) 60. (c)
61. (b) 62. (a) 63. (d) 64. (c) 65. (a)
66. (a) | 67. {d) 68. (b) 69. (b) 70. (a)
71. (a) 72. (a) 73. (a) 74. (¢) 75. (b)
D. ENGLISH

Q. No. 76,77, 89, 91, 93, 94, 97, 98, 99, 100 &1 explanation 2% |
78. an 79. is 80. back 81. had started
82. undid 83. since 84. (e) 85. first, last 86. (d)

87. Foremost/First 88. his 90. widow
92. neutrons 95. (d) 96. {(a)
| v arerata |
| ARa |

. - (@) sinx —cosx 1 ~IH HI° =-\/(l)2+(—1)2 -—2

sim—cnsxﬁfﬂfﬁﬁﬂ'm*

x?-l'r'fgﬁﬂRange [\/_J—-]
(b)ﬂmﬁsx 3=h

Gﬁx&SEﬁh-—-O

M2+ -v2

fim loge(x-Z)_ ki log, (1+h)
x»3 X=3 ;Lo h
e
h- 5 + 3~ 4 +....
= lim i =1
B0
1 2

2
x=0 x x-0 .1'2 x~*0x -cosx x—0 xzmr
. X
sin &
=-2 lim |—2| x4. L __1
r o0 _;_ 4 cosx 2

M0 wdi o

I

X
4
2
J.(sec x +secx-tanx)dx = [tanx+ser:x]n

0
=(tan%+sec-;})—(tan{]+secﬂ)=1+»/5-1-1/5

5. (a) J’ : J'gx+n]-!x u,‘_r

(x+ a)(x ~a)

x--—-—[log(:r a)-log{x+ag)]+c

ZHJ.I a x+d

7. (c) —-- =g - 35in%0 - cost

ii—a
dé

= 2
_tfy__ d6 _ _a-3sin 6-cos® _ tan 6
x  dx

a3 mszﬁ- (- sin B)

-3¢c05%0 - (—sin0)

4
2. do -seczﬁ sec O

d( ) d
I % - - (-tan@) = ~sec B-—— = el Y
2" dx\dx/ dx dx HSCDEZB(—SiI'IB) asing

8. (d) A7 4 =(?+1)a"fqa=ﬁarqa'

5
1\ 252 -63
=wc5x5(-§x-) T3 "8

9. (a) 1+ 21 = 1+21 %:%: 1
1-1-1) 1-(1- 2!+I)
Ad: Modulus=1

10. (a) 5+x=6

= x=1
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11”2”3 Yi+yz2ty3 1+4+7 2+7-3
11. (a) ToEDS= ( , 3 )-( T 3 )-(4.2)

12. (b) Ix+my+n=0ﬁﬁm=§
px+qy+r=0ﬂﬁfﬂ‘€'5=-%
gl Y e E—
s 2x L= = lp+mg=0

M [



13. (a) ABT &0 =5 [xy yp I/ = }4 5 1
I3y31 |621

19, (0) P(A)=%;P(B)=%
P(AUB) =P(A)+P(B)-P(ANB)
_P(A)+P(B)~P(A)-P (B

N =

] -2 -2 0 . |
=512 3 0 =5(6-4)=-5 £ 21,2 1.2 11 2 9 3
“le 21 2 ! i =337 373127127127 4
Rl p—— 2 20. () TP 8 B Jroawal g It |
P . < 21. (d) sin105° + cos105°¢= sin (90° + 15°) + cos (90° + 15°)
o ° =3 . *mslS"-sinlS"z—“ﬁH-ﬁle ]
15. (a) R T 57 & GRHON P+ 2+ dx -7y + 12=0 \ 2¥2  2/2 V2
x=0T@I W Y¥-7y+12=0 22. (c) (b+ c) cosA + {¢+4a)cosB + (a+b) cosC
= ¥W-4y-3y+12=0 = (y~-3)(y-4)=0 = (bcos A + a cosB) + (¢ cosA + a cosC + (¢ cosB + b cos C})
= y=34 =c+b+a=a+b+c

mhﬁmwiﬁﬂﬂﬁ(ﬂﬁ)qﬁ(ﬂ,@wm%|a:|-¢ y, SF T 23. (d) TR HB! &7 TSN B G&T =5x5x5x 5 =625

IS &I FEE =1 25, (b) (x+a)2na%ﬁwr{ff=rwcﬁ=(gzﬂ+l)ﬂ‘fqﬁ
16. (c) CB-OB—OC=(:‘—3j—5 )-(3f-4j_43) | = (n+1)At 98 =3C_- 3" "
=—2i+j-—I C.ﬁ'ﬂ'ﬁl
=AC-OC-0A-(3:‘ -4 ui)*(z?_}};) —i-3idsk - 52.(d) -~ %@ Fgq e® FF = nk
CB- AC =-2-3+5=0 wg mn =50
Ad: CB g AC & €9 &1 ®Ior 90° % | = n=> ==

> = - > o e

17. @) a+b=10i +j +k ﬂmn-b--4j+7j_11; a1 e fayg aw® 98 = 10 x 1-5V =15 volt

55. (a) 9 & GAE T TG AT

- 7 > o> 1 } k - . £ —
(.-:: +b) X(n-—b) =|10 1 1 |=-18i +106j +74 Ve-\/ZiME
-4 7 -11 | e
18. (d) ve3 =fte & A et A MRHWRE ) 2 -1 V*E-\/ZC:;ME- ziME-Ve
£ £
E]ﬁﬁ%‘ﬂwalaﬁ ﬂllaﬁﬂ]‘ ___ﬂ_i > > -
o | 4 P =100 16 59. (b) a+bwc

- (q+b) =tci®

afrs wifirwar = P {(E, N E) U(E", NE)}
=P(E,NE)+P(E, NE,)

e ] e 2
e tal it is2ab=lal“+i bl @FTA)

_4,9. 1.1 | - - -
-5X10+5x1 = a-b =0 = alb=0
3% 1 37 > > ]
=50t50 =50 = /4% ad: q 0d b B & B B = 90

[ Y
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63. (d) =% FHa &—

W = Fx cos 0 &l 0 = §3 3R Rrams & g &1 wor &

== ¢0s 08 =1}
== 0 =90°

= (0=Fxcos#f
= 0S8 = cos K°

65. (a) B9 AN B—FA =V x Q
Tel— V = 10° volt
Q=2e=2x16x10""
=32 x 10

FAT = 10° x 3-2 x 109 = 3.2 « 10*joule
2

66. (a)Hﬂc—}gamR=% = Pac%

[ 0B = He*]

aﬁﬁwnﬁamﬁ,wmmﬁm@maﬁlmwﬁrw

NRIF TSI 2 |
67. (b) éﬁaa,P:-}aﬁfa?r “frey” § @1 e,
1 100 20
= P=—1_—i—- 15 =3 = 66D
| 100
68. (b) .- 60secH 30 TFpT ST 2 |
30 1
ISECEE-E v

| - ﬂ@ﬁ:%Hz,E'JTH=lIﬂ?{ ﬁvﬂT:%ﬂm
BTIGIH'(?[%——Vzmr

or V=_2xn)r
1 1
or V:anxixi or V=%m/5
| 2
73. (@) &9 AT $—F o - L2 (n
o , Fl r
or i 4
! 1= _rl = 4 Or, |F2=4.F
k2.ﬂ
D. ENGLISH

76. By whom has it been stolen ? (Passtue)

77. I'said to the oldman, “please, don't speak too loud”.  (Direct Speech)

78. An®T IAT correct &, AR5 unlucky &1 first letter ‘" vowel ¥ Jar first
sound ‘#’ vowel sound §, o1d: An &I TIRT 3T &

l.e. An ugly woman. (V) A ugly woman. (x)

An urgent work. (V)  Awurgent work. {x)
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79. Is &1 SO I9geh &, Fifes Rice and curry & 41T pair form # §97 &
d4T 39 singular H9T T 8 | 31@: s.v.—is & YANT correct & |

M TE—

1. Truth and honesty 2. Bread and butter
3. Slow and steady 4. Ahorse and carriage
5. The hammer and sickle 6. The crown and glory

7. Ham (¥%3 &7 %osl) and eggs. 8. The long and short
9. The tumult (FBES) and the shouting10.Screaming and shouting.

80. back &1 ga Jidyof &, (& keep back &7 3t A 311, a7 3 v |
§5%I past form kept back (T f&ar, <=7 &) 8var B, S X2 1Y sentence
& g W YW HEAL® | O/: back B TGRT correct¥1

g [WE— |

1. Keep away—X T&T 2. Keep down—=s1 &A1, IHF HIAT
3. Keep off I @A, T8I AT 4. Keep on—aIRI T&HT

5., Keep out—a18T @1 6. Keep to—d®% @d &I @it @
7. Keep under—asf<f &1 8. Keep up—ar<sl 7w ¥ a=1C T@
9. Keep in with—&=Y 714 TF

10. Keep up with—am= gff a1 &= a1 @9 & &H1
81. had started &1 SAFT 8T, F& before FT TAFT conjunction ® ®T 7 &
9, before & Y83 previous action &} T@T AT & T4T before  qRX sub-
sequent action &I T@T FAWT & | previous action &I past perfect tense (S
+ had + M.V3 + Q) o ar subsequent action @l simple past tense (S +
M.V2 + O) ¥ {o@n AT ¥ |

S E—
Previous achion  + before + subsequent action
\ \
past perfect tense simple past tense
\ \
S+ had + MV3+ O S+M.VZ+ 0O
v v v
i.e. The patient had died before the doctor came.
82. Undid, undo &I past form % |
qE W—
Present tense (') Past tense (%) Past participle tense (%)
1. Sting (3% [IAT) Stang Stung
2. Withstand (199 3971) Withstood Withstood
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8 weft ofenr -
3. Swear (3199 3T) Swore Sworn
4. Shed (fREU-m) Shed Shed
5. Owe (Foft &) Owed Owed

AT : FH-FW 4 a® B 997 @ 9 &, F9: Verb forms B Ha1I BT 3
WHE BT A |

83. Since % ¥4I IUYH ¥, Fif%k since B TAT conjunction of time & &7 I

84.

85.

86.

correct & |

A< : since &I T ‘TE’ F oo o conjunction of time % &9 § Bl %,
qaT since & A AT clause § simple past tense 3R since F Tz
qTe$ HAT] main clause ¥ present perfect tense #T S@IT €17 £ §

Ten years have passed since Renu left this flat.

(e) R 1 sentence § ®E Error 7€ &, o1@: sentence &1 .part ‘e’ answer
correct & |
first, last

ANe: & § wftes el ar axgail & =t R sentence § &1, Y 75 =fH
q 9% & O first &1 5@ #ar &, 4 B former &1 3T drmY av sifdm
=fh AT I&F & U last BT T4 B & 7 % latter ®1

e.g. Shobhana, Bhavna and Rima are good girls, but the former is better
than the latter. - ()

Shobhana, Bhavna and Rima are good girls, but the former is betterthan
the last. | (x)

Shobhana, Bhavna and Rima are good girls, but the first is better than
the latter. - ()

Shobhana, Bhavna and Rima are good girls. but the first is Better than
the last. (V)
(d) 2T T sentence #T error part (d) & | Part ‘d’ ¥ those'of Chenai &
Y9 ERT, FifE the people of Mumbai &I &1 the people of Chenai
34T those of Chenai & 8T a1?T 3f% the people of Mumbai &1 go
Chenai 6% & &1 3 &, &t 7oaq &1 (X orgam A & goom 78 &t &)

e,

.,

88.
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his &1 U4PT 8FM, &% 2 7Y sentence H subject ‘Everyone’ ¥ |
Everyone & 819 singular pronoun—he, him, his, himself &1 TN BT B |

q: gt Every one & possessive & &9 ¥ his & 99T correct ® |

d12 : Every body, somebody, nobody, Anybody, Everyone, someone,
anyone, No one, anyone &/ singular pronouns—he, him, his,
himself &1 WA &t &7 % plural pronouns—they, them, their,

themselves &7 |

Everybody should doone’s duty.

Everybody should do its duty.
Everybody should do their duty. (x)

Everybody should do his duty. (V)
3%, Everything, something, nothing, anything & F¥Q singular
pronoun—it, its, itself &1 gq &l 8, 7 &% he, him, his, himslef they,
them, their, themselves T4T one's &I |

(x)
(x)

1.e.

iie. Everything has their importance. (x)
Everything has his importance. {x)
Everything has one's importance. (x)

(V)

Everything has its importance.
waf® ‘one’ & T one's, oneself HT FART & ¥ & his, himself, ones

ol |

(V)
(x)
(x)

one should love one’s country.
one should love his country.
one should love ones country.

i.e.

89. Each-—Distributive Pronoun.

A< : Each, Either, Neither %I Distributive Pronouns &8l ST % |

90. Widow, widower &1 feminine word 21

87. foremost / first, fore &7 superlative form & | I @— 91. His younger sister lives in this girls' hostel.

P.D. C.D. S.D. e : ‘s’ ending plural nouns & last ¥ % apostrophe ( ') & &
1. Late Later / latter Latest / last possesive =TT AT & |
2. Little Less / lesser Least 3=t |

. . 1l BT & (x)
3. Many / Much More Most - Boyﬁcnllege (T 3w % o college T ) (V)
4. ngh | Nigher nghESt/ next BOYE C{}llEgE.
5. Fore (movement) Former Foremost, first Boys’s college. (x)
g- Far (distance) Farther, further Farthest, furthest 92. neutrons, neutron & plural form 2 | _
- Up Upper Uppermost 93. Mahatma Gandhi was greater than most other men in the world.
8 In Inner Innermost / Inmost (compt.)
9, Ol{t Outer / utter Qutermost / utmost
10. Ewil Worse Worst. 94, The box was too heavy to be lifted.
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I «8r L I BN I |

. {d}  General (Adj.)—ATemmor | gy

Syns : common, vague, ordinary, usual, typical, normal
everyday.
Ants : specitic, chief, head
(a)  Dissent (0)-—-HaTdT #8597 | gaig 814
Syns : decline, object, quibble, protest, disagree, difter. refuse.
Ants : agree, consent
The first and the last great Mughals were Babar and Auranczeb
respectively.
The six great Mughal:; were Babarp Humanyun Akbar, j;ilmngu;
Shahjahan and AurangZeb inorder
the tour sons of Shahjahan wére Dara Shikoh, Shuja, Aurangzeb and Murad.

Aurangzeb was veryclever. Heknew that he alone with army would not
be able to defeat the other brothers, especially Dara, who was leading
Shahjahan's army now. So he Joined his brother Murad. Murad was a
fool and onlywared for drinking wine and making Merry.

100. Aurangzeb made a pact with Murad to out Dara. They would divide

the king@om between them:.
ok
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